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TrigonometryExercise3 for No.10052

I 2371 |
== .6 = _ _
6 1=90° .6=2565°
. E S 2T 2=(-135)°  .7=2100°
4 3=210° .8=(-2550)°
16 o
Nol=| 3=—— 8=- ,No2 = . 270
4 3 4=60 9=|"—
Y
2n
.4:— 9:1 900 o
3 5=(-2250)° .10:(—)
7n L T J
S=—  .10=55
i 2 |

2
No3 = [ Conditionl = [Cot(0) < 0], Condition2 = [ Sin(0) = g}, Quest = Cos(@)}, ,

No4 = [ Conditionl = [ Cot(0) =-7], Condition2 = [0 < Sec(0)], Quest = Csc(0)],

x 2
N05:{A =0, B:;, Condition {Cos(e) =3

3}, Quest = [Csc(e)—COt(e)]}a ,[
R -7
No6=[A = , B=2r, Condition =[Tan(9)=

b

—

SERE

g }, Quest =[Cos(0) + Sin(e)]}, ,[

No7 = [A =§, B =, Condition = |:COS(e) =ﬂ Ouest = [Csc(0) + Tan(e)]}, , {

|

|

4= 5 oo s~ won] 7]
No8 = A:n,B:T, Condition = Sec(@):; , Quest =[Tan(0)+ Sin(0)] |, ,
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TrigonometryExercise3 for No.10064

i o 40 1t |
I=— 6=- . _
3 1=180°  .6=(-2820)°
L, ,_ DB 2=(-30)° .7=(-2850)°
6 3=60° .8=1395°
Tr 257 o
Nol=|3=—— 8= , No2 = . 270
6 4 4=(225° 9=|—
T
27
A= 9=17 900 °
3 5=(-360)° .10:(——}
Tr L T J
S=— .10=05
i 2 ]

1
No3 = { Conditionl = [Tan(0) < 0], Condition2 = |:COS(9) = g}, Quest = Csc(0 )}, ,

No4 = [ Conditionl =[0 < Sec(0)], Condition2 = [ Cot(0) = -7], Quest = Sin(0)],

- 8
NO5={A ZO,B:E, Conditi0n={sec(9):

5}, Quest = [Cot(e)—Csc(G)]}, ,[L()}

T -4
No6 = [A = E, B =, Condition = [COt(e) =

b

3 }, Quest =[Csc(0) + Cos(e)]}, ,[L()}

X [Page = 0002]

4= 5 oo | i | won] [
No8 = A:n,B:T, Condition = Tan(@):g , Quest =[Sec(0)—-Sin(0)] |, ,
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TrigonometryExercise3 for No.10076

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX XXKXXKKXXKME5/1-6800303-00003XX

I T 437 |
J=— 6= )
2 4 1=180°  .6=(-675)°
L, Tr 2=(-60)°  .7=2670°
4 3=225° 8=1920°
7T 28 1 o
Nol=| 3=— 8= . No2 = . 90
6 3 4=30 9=|—
T
57
.4:_ 9:1 450 o
3 5=1800° .10:(——}
25 7 L T i
S=-= 10=45

4
No3 [Condmon] =[Cot(0) < 0], Condition2 = [Cos(@) = } Quest = Sm(@)
No4 =

H

No5 [A 0,B _E’ Condition :[Sin(e) :2}, Quest =[Tan(0) + Cos(e)]} ,{
3n -9
Nob6 = [A :T B =2 n, Condition = [Csc(e) 2—} Quest=[Cot(0) — Cos(e)] {
No7 [A —g B = x, Condition ={sm(e) =ﬂ, Ouest = [ Cot(0) — Sec(e)] [

No§ [A mB=" ,COndmonz[Sec(e):ﬂ Quest = [ CSC(9)+COt(9)]:| [

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢

\\6
| I |

[ Conditionl = [ Cot(0) = -1], Condition2 =[0 < Cos(0)], Quest = Csc(0)]

<57
I NG
| I

_;\\ﬁ
| |
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TrigonometryExercise3 for No.10077

47 1t
Ad=m 6=— _
3 1=270° .6 =960°
Lo Mmoo m 2=(-300°  .7=750°
6 6 3=45° 8=2745°
41 63 1 o
Nol=| 3=— .8§=- . No2 = . 360
3 4 4=(-210) 9=|—
T
7T
A=—— 9=4 720 °
4 5=(-1080)° .10:(——}
191 L T i
5= 10=35
i 2 ]

2
No3 = { Conditionl = [Csc(0) < 0], Condition2 = [Cos(@) = g}, Quest = Tan(O )}, ,

No4 = [ Conditionl =[Tan(0) = -1], Condition2 =[Sin(0) < 0], Quest = Sec(0)], , [

T

X Condition = [Csc(e) :Q}, Quest =[Tan(0) + Cos(0)] }, , {

N05=[A=O,B= 5

N06:[A =T, 8237%, Condition :[Sec(e) :;}, Quest =[Csc(0) + Tan(e)]}, ,{
No7:[A =§,B= . Condition ={sm(e) =ﬂ Ouest = [ Sec(0) + COt(e)]}, [

N08:[A :32_75’ B =2 n, Condition =[Cot(8) :§}, Quest =[Sin(0) + Sec(@)]}, ,{ ?
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TrigonometryExercise3 for No.10083

i 377 |
I=r .6 = _
4 1=90° 6=1935°
Lo, 3T 2=(-240)°  .7=840°
3 3 3=(210°  .8=2010°
77 251 o
Nol=|3=—— 8= , No2 = . 360
4 6 4=135 9=|—
11n T .
.4: 6 9:3 o 630
5=2520° 10=|-——
2l &t L T J |
5= 10=-15
. 2 ]

1
No3 = { Conditionl = |:COS(9) = 5}, Condition2 = [Csc(0) < 0], Quest = Tan(0 )}, ,

No4 = [ Conditionl = [Tan(0) = -4], Condition2 =[Sin(0) < 0], Quest = Sec(0)], , [

[ £ 1 } { :)}

No5 = A=0,B=2,C0ndltlon:[Tan(9):2], Quest =[Sec(0)—Csc(0)] |, , (
3n -7 .

N06:[A =7, B :—2 , Condition =[Sec(9) :Z}, Quest =[Sin(0) + Cot(e)]}, ,[

X

:(
458 Condon=| Cx0) - | [
No8 = A:E,B:n, Condition = Csc(@)zg , Quest =[Sec(0)—Cot(0)] |, ,
[Page = 0005]
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X
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TrigonometryExercise3 for No.10109

i 397 |
I=mx 6=-— _
4 1=90° .6 =495°
o2, B 2=135°  .7=(-930)
4 3 3=(240°  .8=2040°
1= 59m o
Nol=|.3=— 8=— , No2 = . 360
6 6 4=150 9=|—
T
T
4=—— 9=2 720 °
3 5=(-2160)° .10:(——}
131 L T J ]
S=- 10=-15
i 2 ]

2
No3 = [ Conditionl = [Cos(@) = 5}, Condition2 = [Cot(0) < 0], Quest = Csc(@)}, ,

No4 = [ Conditionl = [ Tan(0) = 2], Condition2 = [ Csc(0) < 0], Quest = Cos(0)],

2

11

No5 = {A =0,B= %’ Condition = {Csc(e) = 2}, Quest =[Cos(0) + Cot(e)]}, , [

=[5
| |

3
N06:[A :Tn, B =2 n, Condition :[Csc(e) :;}, Quest =[Sec(0) + Cot(e)]}, ,{

|

No7 = [A =§, B =, Condition = |:COS(e) =ﬂ Ouest = [Csc(0) + Tan(e)]}, , {

|

3n 7 . «/7
No8 = [A =m,B= 7’ Condition = [Cot(@) = Z}, Quest =[Sin(0) + Sec(@)]}, , {—(}
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TrigonometryExercise3 for No.10180

i 89 7t |
== 6=-— - -
6 1=90°  .6=(-765)°
L, Arm 2=120°  .7=2760°
3 3 3=(-45)° .8=(-390)°
7n 291 o
Nol=| 3=—— 8= , No2 = . 90
4 4 4=150° 9=|—
T
7n
.4:— 9:3 720 °
6 5=2160° .10:(—}
15n L T J ]
S=- 10=-65
i 2 ]

2
No3 = { Conditionl = { Sin(0) = } Condition2 = [ Tan(0) < 0], Quest = Sec(@)

No4 = [ Conditionl = [Cot(0) = -1], Condition2 =

ﬁ\ﬁ

[0<Csc(0)], Quest =Sin(0)], {
i
Nojs = {A =0, B=—, Condition =

5 —{Sin(e)zg}, Quest:[Sec(6)+Cot(9)]} ,[L

No6 [A =m, B :Tn, Condition = [ Sec(0) =-2], Quest =[Csc(0) + Cot(e)]} , }
N07=[A=§,B=n,Conditionz[Cot(O)z?},Questz[Sec(O)—Sin(G)]}, [ }

-1 :
No8 = [A = T’ B =2 n, Condition :[Sin(B) :Z}, Quest =[Tan(0) + Cos(@)]}, , {ﬂ}
X [Page = 0007]
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TrigonometryExercise3 for No.10181

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXKX XXX XXX KKK XXX XXX XXX KKK XXX XXKXXKKXXKME5/1-6800303-00008XX

I 3n 357w |
I=— 6= i} _
2 3 1=90° .6=2670°
L, 3o 2=150°  .7=(-1485)°
4 6 3=(-240)° .8=(-2040)°
11mn 55n o
Nol=|.3= 8=— ,No2 = . 90
6 4 4=315 9=|—
Y
2n
.4:— 9:1 630 o
3 5=(-1710)° .10:(—)
S5n L T
S=— .10=05
i 2

5
No3 [Condztzonl =[Cot(0) < 0], Condition2 = [Cos(@) = } Quest = Csc(@)

No4 = [ Conditionl =

[Tan(0) = 7], Condition2 =

ﬁ\ﬁ

[Sin(0) < 0], Quest =Cos(0)], [

No$5 {A 0, B=—, Condition=[Cot(0)=1], Quest:[Sec(G)JrCsc(G)]} ,[
No6 [A = E’ B =n, Condition = [Csc(e) :2}, Quest =[Tan(0) — Cos(e)]} , {
3n

No7 [A_TB 2n,Condition:[Tan(G):?},Questz[Sec(G)—Csc(O)]} ,[

B

X [Page = 0008]

NoS8 [A n,B="— Condltzon—[Cot(8)=3],Quest:[Sin(6)+Sec(6)]} ,[ﬁ}

M
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TrigonometryExercise3 for No.10191

; 3 46 |
2 3 [ 1=180° .6=(-2025)°]
P LA . 2=30°  .7=(-1470)°
6 6 3=240° .8=(-840)°
T 1= o
Nol = 3= S=- , No2 = o 180
4 4 4 =135 9=|—
T
T
4=—— 9=1 630 °
3 5=2520° .10:( j
AR L T /|
S=- A0=2.5
L 2 |
y 3 o3 /)
No3 =| Conditionl =[Sec(0) < 0], Condition2 = Sm(@)z5 , Quest =Tan(0) |, , (
No4 = [ Conditionl = [Tan(0) =-2], Condition2 =[Sec(0) < 0], Quest =Sin(0)], , {L()}

Nos = {A ~0.B= g Condition = {cm(e) =ﬂ, Ouest = [Csc(0) + COS(O)]:|, , [

3n -1 ) «/7
N06:[A:7,B:2n, Conditionz[Tan(O)z;}, Quest:[Sec(O)—Sm(G)]}, ,[ > }
N07:[A =m, B :32_ch Condition = [ Sec(0) =-2], Quest =[Sin(0) + Cot(e)]}, ,[

N
o
No8 = [A = g, B = n, Condition = [Cot(@) = ?}, Quest =[Csc(0) — Cos(@)]}, ; [L()}
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[ T 351 |
J=— 6= _
3 1=180° 6=420°
L2 T 2=(-330)° .7=(-495)°
6 6 3=315°  .8=(-1290)°
T S3m o
Nol=| 3=—— 8= . No2 = . 180
4 4 4=(240° 9=|—
T T
4=—— 9=6 990 °
3 5=2160° .10:(—)
291 L T
S=-" .10=-05

1
No3 = {Condmon] =[Sec(0) < 0], Condition2 = [Sm(@) = } Quest = Tan(@) {

x\é
| I |

No4 = [ Conditionl = [Tan(0) =-7], Condition2 =[Sec(0) < 0], Quest = Csc(0)], [

«'b
RN NG
[

N05:{A =0, Bzg, Condition =[Csc(0)=5], Quest =[Cot(0) — COS(G)]:|, ,[
Nob6 = [A =§, B =, Condition = [Tan(e) =§}, Quest =[Sin(0) + Sec(e)]}, ,{
N07:[A:n,B=32—n, Condition = [Csc(0)=-6], Quest:[Cot(O)—Sec(O)]}, , }

4 o3} | [
No8 = A—TB 2 mt, Condition =| Cot(0) = Quest =[Csc(0) — Sec(0)] , —(

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢
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| |



):9.0:9:9:9:9:9:9.9:9:9.0:9.9.9:9:9.9:9:9.9.9.9.9.9:9.9.9:9.9.9:9.9.0:9.0.9.9:9.9.0:9.0.0:9.9.9:9:0.9.0:9.9.9:9:0.0:9.9.0:9.0.9.9:9.9.90:9:0.0:9.0.0:9.0.9.9.0.9.9:9.9.9:9.0.0:0:9.9.:9.0.9.0:9.9.9.9:0.0:9.0.0:0:0.9.9:9.0.0:0.0.0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XX XXX XXX XXX XXX XXX XXX XXX XXX X XXX XXX XX XX XXXXKXME /1-6800303-00011XX
TrigonometryExercise3 for No.10437

T 357
I=— 6= i} _
2 4 1=180° 6=2370°
L,_ 2%, 28m 2=1225° 7=2565°
6 3 3=30° 8 =(-1020)°
T 41 o
Nol=| 3=— 8=- , No2 = . 270
4 6 4=(-240)° 9=|—
. T
4=— .9=3 720 o
3 5=(-1440)° .10:(——)
197 L o
S=— 10=-05

5
No3 = [ Conditionl =[Tan(0) < 0], Condition2 = [ Sin(0) = E}, Quest = Sec( 8)}, ,

1
I

No4 = [ Conditionl = [ Cot(0) =-6], Condition2 =[0 < Sin(0)], Quest = Sec(0)],

1

1

b

8

No5 =[A = O,Bzg, Condition = [Tan(0) =3 ], Quest =[Sin(0) — COS(O)]}, ,{

3 -6
Nob6 = [A :Tn, B =2 n, Condition = [Cot(e) =;}, Quest =[Sin(0) + Sec(e)]}, , {

N07:[A = n,B:?,z—n, Condition :[Tan(e) :i}, Quest =[Sec(0) — Sin(e)]}, ,[ }

No8 = [A = g B =m, Condition = [ Sec(0) = ﬂ Quest =[Tan(9) + Sin(e)]}’ ’ [_(}

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢
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):9.0:9:9:9:9:9:9.9:9:9.0:9.9.9:9:9.9:9:9.9.9.9.9.9:9.9.9:9.9.9:9.9.0:9.0.9.9:9.9.0:9.0.0:9.9.9:9:0.9.0:9.9.9:9:0.0:9.9.0:9.0.9.9:9.9.90:9:0.0:9.0.0:9.0.9.9.0.9.9:9.9.9:9.0.0:0:9.9.:9.0.9.0:9.9.9.9:0.0:9.0.0:0:0.9.9:9.0.0:0.0.0:0.0:¢
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TrigonometryExercise3 for No.10493

[ T 271 |
I=— 6= _ }
2 4 1=270° .6=600°
S Mmoo 3w 2=(-240°  .7=510°
6 3 3=(-30)° .8 =2205°
77 6l m o
Nol=| 3=—  8=-— . No2 = . 270
4 6 4=225 9=|—
T
T
.4: - 9:5 450 o
3 5=2430° .10:(——)
21w L T
5= 10=135

4
No3 = [ Conditionl =[Tan(0) < 0], Condition2 = [Cos(@) = H}, Quest = Sin(@)}, , {

=[5
|

No4 = [ Conditionl =[0 < Sec(0)], Condition2 = [ Cot(0) = -1], Quest = Sin(0)],

No5 = [A =0,B =§, Condition = [Tan(e) :%}, Quest =[Sin(0) — COS(G)]}, , {

N06=[A =§,B= nt, Condition = [ Tan(0) =-1], Quest =[ Sec(0) + Csc(e)]}, ,{

N07=[A :Tn, B =2 n, Condition :[Cot(e) =?}, Quest =[Cos(0) — Sin(e)]}, ,{

1

b

X [Page = 0012]

No8=|A=mn,B= > , Condition =[Csc(0)=-6], Quest =[Sec(0)+ Cot(0)] |, ,

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢



TrigonometryExercise3 for No.10596
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[ T 271 |
d=— 6= ) )
2 4 1=180° .6=(-780)°
Lo 2r _ larm 2=240°  .7=2010°
4 3 3=315° .8 =2385°
117w 131 o
Nol=|.3=— S=— , No2 = . 180
6 6 4=(-150)° .9=|—
T T
4:; 9:6 . 630 o
S5=(-720)° .10=|—
S5n L T J |
S5=— 10=35
i 2

5
No3 = [Condmon] [ Sin(0) = } Condition2 = [ Cot(0) < 0], Quest = Sec( 8) [

ﬁ

No4 = [ Conditionl = [ Cot(0) =-3], Condition2 =[0 < Sin(0)], Quest = Cos(0)], [

ﬁ

No$5 {A OB_E Condition:{Sec(G)zg},Questz[Csc(O) Cot(e)]} ,[
3n

No6 [Az—B 2 nt, Condition = [ Csc(0) = -8, Quest = [ Cot(0) Sec(e)]} ,{

=[5
| I

2
R
No7=|A=mn,B= T, Condition =

|

X [Page = 0013]

[Sin(@)z?}, Quest:[Cot(O)—Sec(O)]} ,[ }

No8 [A_EB n,Condition:[Cos(O):?},Quest:[Csc(e)—Tan(O)]} ,{ﬁ}

5
),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢
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X
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):9.0:9:9:9:9:9:9.9:9:9.0:9.9.9:9:9.9:9:9.9.9.9.9.9:9.9.9:9.9.9:9.9.0:9.0.9.9:9.9.0:9.0.0:9.9.9:9:0.9.0:9.9.9:9:0.0:9.9.0:9.0.9.9:9.9.90:9:0.0:9.0.0:9.0.9.9.0.9.9:9.9.9:9.0.0:0:9.9.:9.0.9.0:9.9.9.9:0.0:9.0.0:0:0.9.9:9.0.0:0.0.0:0.0:¢
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TrigonometryExercise3 for No.10599

i .
== O6=—"" _
3 1=270° 6=2310°
Lo I Oln 2=(30)°  .7=(-1200)°
4 6 3=45° .8 =2565°
T 53w o
Nol=| 3=—— .8=-— , No2 = . 180
3 4 4=(-240)° 9=|—
T
S5n
A=—— .9=4 810 °
6 5=(-2250)° .10:(——)
RIW L T
5= 10=-6.5
i 2 |

3
No3 = [ Conditionl = [ Sin(0) = g}, Condition2 = [Cos(0) < 0], Quest = Cot(@)

No4 = [ Conditionl =

[ Tan(0) =-6], Condition2 = [ Csc(0) < 0], Quest = Sin(0)],

No5 {A 0,B :E’ Condition = {Cot(e) =§}, Quest =[Cos(0) + Sin(e)]} ,[

3x
N06:[A =
2

——, B=2mn, Condition=[Csc(0)=-5], Quest—[Sec(6)+Tan(9)]} ,[
No7 [Azg,B:n, Condition:[Sin(G)zl} Quest—[Tan(9)+Cos(9)] ,{

No8 = [A TCB—T Condition =[Sec(0) =-2], Quest—[Csc(6)+Tan(8)]} ,

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢
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X

):9.0:9:9:9:9:9:9.9:9:9.0:9.9.9:9:9.9:9:9.9.9.9.9.9:9.9.9:9.9.9:9.9.0:9.0.9.9:9.9.0:9.0.0:9.9.9:9:0.9.0:9.9.9:9:0.0:9.9.0:9.0.9.9:9.9.90:9:0.0:9.0.0:9.0.9.9.0.9.9:9.9.9:9.0.0:0:9.9.:9.0.9.0:9.9.9.9:0.0:9.0.0:0:0.9.9:9.0.0:0.0.0:0.0:¢
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TrigonometryExercise3 for No.11068

[ 43 i |
/= 6=— _ B}
3 1=180° 6=1680°
S, I, Um 2=(-330)° .7=(-1830)°
6 6 3=(315°  .8=1215°
21 33 x o
Nol=| 3=— 8= . No2 = . 90
3 4 4=60 9=|—
T
37
4:_ 9:4 990 o
4 5= 450° .10:(—)
191t L T
5= 10=05

1
No3 = [Condmon] =[Cot(0) < 0], Condition2 = [Sm(@) = } Quest = Sec(@) [

ﬁ

No4 = [ Conditionl = [0 < Sec(0)], Condition2 = [ Tan(0) = -3 ], Quest = Sin(0)], [

No5 = {A =0,B= %’ Condition :{Sin(e) = g}, Quest =[Cos(0) + Cot(e)]}, , [

Nob6 = [A =m, B :Tn, Condition =[Tan(0) = 1], Quest =[Csc(0) — COS(G)]:|, , [
3n 3 .

No7 = [A :T’ B =2 n, Condition —[ Cot(0) ——} Quest =[Sec(0) — Sln(e)]}, , {

I 7 A
No8=| A= > B n, Condition =| Csc(0) =7 |, Quest =[Sec(0) + Cot(0)] |, ,
[Page = 0015]

Bop BB

| I

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢



X

):9.0:9:9:9:9:9:9.9:9:9.0:9.9.9:9:9.9:9:9.9.9.9.9.9:9.9.9:9.9.9:9.9.0:9.0.9.9:9.9.0:9.0.0:9.9.9:9:0.9.0:9.9.9:9:0.0:9.9.0:9.0.9.9:9.9.90:9:0.0:9.0.0:9.0.9.9.0.9.9:9.9.9:9.0.0:0:9.9.:9.0.9.0:9.9.9.9:0.0:9.0.0:0:0.9.9:9.0.0:0.0.0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XX XXX XX XXXX XXX XXX XXX XXX XX XXX XX XXXXXME /1-6800303-00016XX
TrigonometryExercise3 for No.11423

I 3n 337 |
I=— 6=- _ _
2 4 1=90° 6=(-780)°
PN LN Y. 2=(-300°  .7=1830°
4 6 3=(210° .8=(-855)°
11 m 20m o
Nol=|.3=- 8= ,No2 = . 90
6 3 4 =45 9—|—
2n S
4: 3 9:3 o 540
5=2790° . 10=|-—
On L o
S=—"  10=-65
i 2 |

1
No3 = {Condmon] {Sln(e) = } Condition2 = [ Tan(0) < 0], Quest = Sec(@) {

‘j

No4 = [ Conditionl = [0 < Csc(9)], Condition2 =[ Cot(0) =-2], Quest = Csc(0)], [
T ) 5 «/7
No5 = {A =0,B= E’ Condition ={Sln(9) = ;}, Quest =[Cos(0) + Cot(e)]}, , {—
3n 2 «/7
Nob6 = [A =m B :T’ Condition = [Tan(e) :5}, Quest =[Sec(0) + Csc(e)]}, , {—}
3n -1 «/7
No7 = [A :T’ B =2 n, Condition = [Cot(e) = ;}, Quest =[Sec(0) + Csc(0)] }, , {—}

No8 = [A_EB m, Condmon—[Csc(@)—S} Quest = [ COS(9)+C0'€(9)]} a[ﬂ}

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢
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TrigonometryExercise3 for No.11440

i 3n 557 |
d=— 6= _ _
2 6 1=90° .6=(-660)°
L, It BT 2=240° .7=(-2025)°
6 4 3=135°  .8=(-2850)°
S5n 14 t o
Nol=|3=-"— §=- , No2 = . 270
4 3 4=330° 9=|"—
T
S5n
Y= .9=3 810 °
3 5=(-990)° .10:(—}
S5n L T J |
S=—"— .10=65
i 2 ]

4
No3 = { Conditionl = |:COS(9) = } Condition2 = [ Tan(0) < 0], Quest = Sln(e)

[
g

\3«75

No4 = [ Conditionl = [Tan(0) =-6], Condition2 = [ Sin(0) < 0], Quest = Sec(0)],

No5 = {A OB—; Condition = [Csc(0)=6], Quest—[Sec(6)+C0t(9)] ,[

‘\ \,

!

Nob6 = [A—EB nCondztzon—[Tan(O)—-l]Quest—[Cos(6)+Sln(6)] ,{ ()}
== conion = s001=3 | } [
No7 = A:n,BzT, Condition = Sm(G)z;,Quest-[ Cot(0) — Sec(0)] N

4 o) | [
No8 = A—T B =2 mn, Condition =| Cos(0) = Quest =[Csc(0) + Tan(0)] T

[Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKKKXKXXKXKKXXXKKKXKXXKKKKXKXXKKKXKXXKKKK XX KKK KX KKKK KX KKKK XK KKK XX KKKK XK KKK KX KKKKX



),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XX XXX XX XXX XXXX XXX XXX XXX XXX XXX XX XX XXXXXME /1-6800303-00018XX
TrigonometryExercise3 for No.11466

I 17 7 |
A== 6=— _ _
3 1=270° .6=1665°
g 3, 6 2=300°  .7=1500°
4 6 3=45 .8=(-1770)°
Sm 337 o
Nol=| 3=— 8=- ,No2 = . 270
6 4 4=30 9=|—
Y
47
A= .9=4 810 o
3 5=(-720)° .10:(—)
231 L T J
S=- 10=45

No4 = [ Conditionl =[Sec(0) < 0], Condition2 =[Cot(0) =51, Quest = Csc(0)],

b

1
No3 = { Conditionl = { Sin(0) = ;}, Condition2 = [ Tan(0) < 0], Quest = Sec(@)}, , {

T ) 4 «/7
No5 = [A =0,B :E’ Condition :[Sm(e) :;}, Quest =[Sec(0) — Tan(e)]}, , {—(}

3n 8 , Ao
Nob6 = [A =m,B= T, Condition = [ Sec(0) = ;}, Quest =[Tan(0) — Sin(0)] }, , {—(}

n y -8 e
No7 = A:2,B:n,C0ndltzon: Cot(e)z5 , Quest =[Csc(0)+ Cos(0)] |, , >

1
),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢

4502 Contion | S0~ | 1]
No8 = A:T,B:ZR, Condition =| Sin(0) = " , Quest=[Cos(0) —Tan(6)] |, ,|— —
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TrigonometryExercise3 for No.11863

i 3n 37w |
d=— 6=- _ _
2 3 1=90° 6=1320°
L, o 3l 2=60° 7=390°
6 6 3=(45)°  .8=1395°
47 53 m o
Nol=| 3=— 8=- ,No2 = . 90
3 4 4=(-330)° .9=|—
Y
5w
A= 9=5 720 o
4 5=(-2070)° .10:(—)
137 L o
5= 10=-35
i 2 |

3
No3 = {Condmon] =[Cot(0) < 0], Condition2 = |:COS(9) = } Quest = CSC(O) [

ﬁ

No4 = [ Conditionl = [ Cot(0) =-6], Condition2 = [ Csc(0) < 0], Quest = Sec(9)], [

i
Noj5 = [A =0, B=—, Condition =

5 —[Tan(e)zg}, Quest:[Cos(9)+Sin(9)]}, ,{L

3 1
No6 [A —nB :771’ Condition = [COS(O) =ﬂ, Ouest = [Sin(0) — Tan(e)]} ,

No7 [A—T B =2, Condition =[Sec(0)=4], Quest =[ Cot(0) Sin(e)]} ,{

ﬁ

I

|

. .. ~
N N R NG
I

X

No8 [A _;’ B =m, Condition =[Csc(0)=2], Quest =[ Tan(0) — Sec(e)]} [L()
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TrigonometryExercise3 for No.11967

[ 3n 22 1t |
I=— 6= _ }
2 3 1=180° .6=1765°
PYNCE N 2=225°  7=(-2640)°
6 4 3=240° 8=2670°
T 55w o
Nol=| 3=— 8= . No2 = . 270
4 6 4=30 9=|—
T
21
.4:— 9:7 810 o
3 5=(-720)° .10:(—)
21 & L T |
S==" 10=45

5
No3 = [ Conditionl = [ Sin(0) = 5}, Condition2 = [Sec(0) < 0], Quest = Cot(e)}, , [

I

No4 = [ Conditionl = [0 < Sin(0)], Condition2 = [ Tan(0) = -6 ], Quest = Sec(0)], , [

- 7
NO5={A ZO,B:E, ConditionZ{CSC(e):

=[5
| |

5}, Quest =[Cos(0) — Cot(O)]}, ,{ (
T -7
No6 = [A =7 B =, Condition = [Cot(e) =

g}, Quest = [Csc(9)+C0s(6)]}, ,[ﬁ

NS

(

| I |

N07:[A =m B= 27:) Condition =[Tan(0) = 1], Quest =[Csc(0) — Cos(e)]}, ,

&2
o
x I | Vo
No8 = [A = 7’ B =2 n, Condition = |:COS(9) = E}, Quest =[Sin(0) + Cot(0)] }, , {—(}
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TrigonometryExercise3 for No.13031
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i 657 |
=7 6= _ _
6 1=90° 6=1290°
S 4 3l 2=(-135)° .7=1485°
3 4 3=300°  .8=(-1740)°
117w 31 = o
Nol=|.3=— S=— , No2 = . 180
6 3 4=(-210° .9=|—
T T
.4:—2 9:1 . 540
5=(-630)° .10=|—
ST L 0
S5=—"—  10=65
L 2 ]

2
No3 = {Condmon] =[Tan(0) < 0], Condition2 = |:COS(9) = } Quest = Csc(@) {
No4 = [ Conditionl = [Tan(0) = -1], Condition2 =

[Csc(0) < 0], Quest =Sec(0)],

NoS5 {A 0,B= E’ Condition :{Sec(e) = é} Quest =[Sin(0) + Cot(e)] , {

No6 [A:— B =, Condition = [ Sec(0) =-4], Quest =[Csc(0) — Cot(e)] ,[

No7 = [A——B 2m, Condztzon—[Csc(G)— 12} Quest—[Sec(G)JrTan(G)]} ,{
3

7
NoS8 [A n,B—T, Condition:[Tan(B): } Quest =[Sec(0) — Csc(@)] ,[

XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX

2

:‘Si‘ixbxb

X [Page = 0021]

\‘ﬁ
IS



X

3n -3
No8 = [A =m,B :T, Condition = [Cos(@) = E}, Quest =[Tan(0) — Csc(@)]}, , {
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TrigonometryExercise3 for No.13093

I ; T 161 |
) 3 [ 1=270° .6=1755°
Lo 2%, 2r 2=120°  .7=(-2370)°
4 3=210° 8 =1740°
T 53 n o
Nol=| 3=— 8§=-— . No2 = . 90
3 6 4=(315)° 9=|—
T
ST
.4:—_ 9:1 450 o
6 5=360° .10:(—}
191t L T i
5== 10=-55

4
No3 = [Condmon] =[Sin(0) < 0], Condition2 = [COS(@) = } Quest = Cot(@) [

‘J

No4 = [ Conditionl = [ Tan(0) =-3], Condition2 = [ Cos(0) < 0], Quest = Sin(0)], [
No5 = [A =0,B= g, Condition = [Csc(e) = %}, Quest =[Cos(0) — Tan(0)] }, , {
Nob6 = [A :32_ch B =2 n, Condition = [Cot(e) = %}, Quest =[Sec(6) — Csc(9)] }, , {

N07:[A zg, B =, Condition =[Sec(6) =§}, Quest =[Sin(0) + Cot(e)]}, ,[

«\aﬁﬁ*‘ﬁﬁ
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TrigonometryExercise3 for No.13163

i 3m 9|
J=—"—  6=- _ -
2 4 1=90°  .6=(-2580)°
L, . 2m 20 2=(-240)° .7=(-855)°
3 3 3=45° .8=2550°
11= 67 m o
Nol=|.3=- 8= , No2 = . 90
6 6 4=(-30° 9=|—
ELS "
.4: 4 9:5 o 450
5=2520°  .10=|—
11mn T J ]
5= 10=-6.5
i 2 ]

No4 =

[ Condition] =[0 < Sin(0) ], Condition2 = [ Cot(0) =-3], Quest = Cos(0)] [

L 7 )
No5=|A4=0 B—2 Condition = Csc(e):4 , Quest =[Sec(0) +Cot(0)] |, , (
3w

Nob6 = [AZTB 2m, Condztzon—[Tan(G)——?)} Quest:[Csc(G)JrCos(O)]} ,
N07:[

:— Condltlon—[Sm(O)— 1} Quest:[Tan(G)—Sec(G)]}, ,{L()}

4518 Contin=| cos) -5 won] [}
NoS8 A—2 B =, Condition = Cos(@):2 , Quest =[Tan(0) +Sin(0)] |, ,
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TrigonometryExercise3 for No.13403

[ 3n 5571 |
I=— 6= ) )
2 6 1=180° 6=1770°
S 4 3l 2=45°  7=(-1395)°
3 3 3=30° 8 =660°
37 37w o
Nol=| 3=— 8§=-— , No2 = . 270
4 4 4=120 9=|—
11n T
.4: 9:3 630 0
6 5=2520° .10:(——}
57 L 0
S=——  10=05
L 2 ]

No3 = { Conditionl = |:COS(9) = g}, Condition2 = [Sin(0) < 0], Quest = Tan(@)}, , [
No4 = [ Conditionl = [Tan(0) =-4], Condition2 = [Csc(0) < 0], Quest =Sin(0)], , [
No5 = A=0,B=2,C0ndltlon=[Csc(9)=3], Quest =[Tan(0)+ Cos(0)] |, , >

x 3 | o
Nob6 = [A = E’ B =n, Condition = [Cot(e) = Z}, Quest =[Sin(0) + Sec(e)]}, , {—(}

No7=|A4= > , B=2m, Condition =[Sec(0)=2], Quest=[Tan(6) — Csc(0)] |, , >

3x 3 | o
No8 = A:n,B:T, Condition = Tan(@):g , Quest =[Cos(0) +Sin(0)] |, ,| —
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TrigonometryExercise3 for No.13459

[ 3n 537t |
J=—  6=- i} }
2 6 1=90° 6=1755°
n 2l m 2=(30) 7 = 960°
2=—— 7=- 2=(-30) 7=
4 4 3=45° 8 =1290°
57 8 o
Nol=| 3=— 8=—— | No2= . 90
6 3 4=(-300) 9=|—
T T
.4:—_ 9:5 450 o
3 5=(-1080)° .10:(——)
57 L 0
S5=——  10=15
L 2 |

=

1
No3 = [Condmon] =[Sec(0) < 0], Condition2 = {Sln(e) = } Quest = Cot(@) [

|

No4 = [ Conditionl = [0 < Sin(0) ], Condition2 = [ Cot(0) = -3 ], Quest = Cos(0)], [

‘Q

No5 = [A =0,B :g, Condition = [Csc(e) :g}, Quest =[Tan(0) + Cos(e)]}, , {

IS

3 -1
N06:[A :Tn, B =2 n, Condition =[Sin(9) :;}, Quest =[Sec(0) + Cot(e)]}, ,{

|

=

No7 = Azg,B:n, Conditionz[Tan(O)zg},Quest:[Csc(6)+Cos(9)]}, ,{ (}

[ 3n . } [ﬁ}
No8 = A:n,B:T, Condition =[Cot(0) = 1], Quest =[Sin(0) — Cos(0)] |, , —(
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X

):9.0:9:9:9:9:9:9.9:9:9.0:9.9.9:9:9.9:9:9.9.9.9.9.9:9.9.9:9.9.9:9.9.0:9.0.9.9:9.9.0:9.0.0:9.9.9:9:0.9.0:9.9.9:9:0.0:9.9.0:9.0.9.9:9.9.90:9:0.0:9.0.0:9.0.9.9.0.9.9:9.9.9:9.0.0:0:9.9.:9.0.9.0:9.9.9.9:0.0:9.0.0:0:0.9.9:9.0.0:0.0.0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XX XXX XXX XXX XXXX XXX XXX XXX XXX XXX XX XX XXXXXME /1-6800303-00026XX
TrigonometryExercise3 for No.13581

[ 3 10 it |
I=—  6=- _ }
2 3 1=90° 6=1290°
L2t 8 2=120°  .7=(-420)
4 6 3=210° .8=(-1485)°
4 47 1 o
Nol=| 3=— 8= . No2 = . 270
3 4 4=(315° 9=
T
117w
.4:— 9:5 990 o
6 5=1800° .10= (—j
77 L 0
S5=——  10=-45
L 2 |

4
No3 = {Condmon] =[Sin(0) < 0], Condition2 = {Cos(@) = } Quest = Tan(e)

\ﬁﬁ

No4 = [ Conditionl =[Cos(0) < 0], Condition2 =[Cot(0) = 1], Quest =Sin(0)], [

No5 = [A =0,B :g, Condition = [Csc(e) :3}, Quest =[Sec(0) + Tan(e)]}, , {

1
Nob6 = [A = 7’ B =2 n, Condition = [Cos(e) = E}, Quest =[Sin(0) + Cot(0)] }, ,

No7=| 4

AEnake

|

n,B=Tn, Condition = [Tan(0) = 4], Quest = [Sin(0) + Sec(e)]}, ,{

No8 = [A :g, B ==, Condition = [ Sin(0) = %}, Quest =[Cot(0) — Cos(e)]}’ , [ﬂ}

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢

=

[Page = 00206]



):9.0:9:9:9:9:9:9.9:9:9.0:9.9.9:9:9.9:9:9.9.9.9.9.9:9.9.9:9.9.9:9.9.0:9.0.9.9:9.9.0:9.0.0:9.9.9:9:0.9.0:9.9.9:9:0.0:9.9.0:9.0.9.9:9.9.90:9:0.0:9.0.0:9.0.9.9.0.9.9:9.9.9:9.0.0:0:9.9.:9.0.9.0:9.9.9.9:0.0:9.0.0:0:0.9.9:9.0.0:0.0.0:0.0:¢
TrigonometryExercise3 for No.13668
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[ T 95 11 |
I=— 6= _ )
2 6 1=270° 6=1650°
g3, 3T 2=(-210°  .7=1575°
6 4 3=(-135)°  .8=1140°
57 & o
Nol=|3=—"— 8=—| No2= . 270
3 3 4=120 9=|—
7T T o
.4: 4 9:7 o 630
5=(-2520)° .10=|-—
17 L T J |
5= 10=35
L 2 ]

1
No3 = [ Condition] = [Cos(e) - El Condition2 = [ Csc(0) < 0], Quest = CSC(O)}’ ’
Nod = Condition] = [ Tan(8) = -31, Condition2 = [ Sec(8) < 01, Quest = Sin(0)],
- 12
No5 = {A =0,B :E, Condition :{Sec(e) =

aENE

?}, Quest =[Tan(0) — Sin(e)]}, ,[
RE -5
Nob6 = [A = B =2, Condition = [Csc(e) =

N07:[A =

2 }, Quest =[Tan(0) + Cos(e)]}, ,[
No8 = [A — = B=n, Condition = |:COS(9) :ﬂ Ouest = [ Sin(0) — Tan(e)]}, {L()}

T -5
n, B=—"—, Condition :[Sm(e) :E}, Quest =[Tan(0) + Cos(e)]}, , {
0.0:0:010:0:0:0.0:0.0:0.0.0.0.0.0.0:0.0:0.0.0.0.0.0.0:0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0:0.0:0.0.0.0.0.0.0:0.0:0.0.0.0.0.0.0.0.0:0.0'0.0.:0.0.0:0.0'0.0.0.0.0.0.0:0.0:0.0.0.0.0.0:0:0:0:0.0.0.0.0.0¢

|
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TrigonometryExercise3 for No.13716

Nol =

No4 = [ Conditionl = [ Cot(0) =-4], Condition2 = [0 < Sec(0)], Quest = Csc(0)], [

7

[ :—B TcCondztzon—[Sec(G)—g},Questz[Csc(G)—Tan(G)]}, ,{

Noj5 = [A 0, B—— Condztzon—[Cos(O)—%}, Questz[Csc(O)JrTan(G)]}, ,{

N07:[A:7 B=2m, Condztzon—[Csc(O)—l} Questz[Sec(6)+Tan(6)]}, ,[—}

N08:[A=n,B—32 Condztzon—[Cos(e)— 4} Quest =[Csc(0) — Tan(@)]} ,{

X [Page = 0028]

.6=
4
38m
==
3
71 n
8=
6
9=6
10=5.5

, No2 =

- 1=180°
2=30°
3=225°
4=120°

5=1800°

6=(-2040)° |
7=(-1950)°
8=(-2205)°

270
=&
T
.10:(——
T

3
No3 = [Condmon] =[Sec(0) < 0], Condition2 = {Sln(e) = } Quest = Cot(@) [

990

)

v
i

-

o«
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TrigonometryExercise3 for No.13720

3n 791 |
= 6= )
2 6 1=180° 6=1140°
S, M 37 2=(-30°  .7=1935°
6 3=(-60)°  .8=(-870)°
41 28 1 o
Nol=| 3=—— 8= . No2 = . 180
3 3 4=1225 9=|—
T
37
.4:_ 9:4 450 o
4 5=(-1800)° .10:(——}
21 m L T i
S=-" 10=35

2
No3 = { Conditionl = [ Tan(0) < 0], Condition2 = |:COS(9) = } Quest = Sln(e)

No4 = [ Conditionl =[Cos(0) < 0], Condition2 = [ Tan(0) =-4], Quest = Sin(0)], [

<
~ NG ~ N
[

NoS5 =[A = O,Bzg, Condition =[Tan(0) = 1], Quest =[Sin(0) + Sec(e)]}, ,{

Nob6 = [A :7 B=2m, Condztzon—[Cos(O)—l} Quest =[Tan(0) — Sln(e)] {

=~
~ |

No7 = [A I, B_T Condition =[Csc(0) =-3], Quest—[Tan(9)+Cos(9)] {

458 Condion=| S0~ | | [
No8 = A:E,B:n, Condition = Sm(@):g , Quest =[Sec(0)—Cot(0)] |, ,|—
[Page = 0029]

o
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TrigonometryExercise3 for No.14307

3n 43
I=— 6= i} _
2 4 1=180° 6=(-750)°
L2 4 2=45°  7=(-2475)
6 3 3=30° 8= 1740°
S5n 9n o
Nol=| 3=—"— 8= , No2 = . 90
4 6 4=(-300° 9=|—
T
2n
4d=—"" .9=3 810 o
3 5=1800° .10:(——)
3l n L T J
S=-" 10=35

4
No3 = [ Conditionl = [ Sin(0) = 5}, Condition2 = [ Cot(0) < 0], Quest = Sec( 8) {

ﬁ

No4 = [ Conditionl = [ Cot(0) =-1], Condition2 =[0 < Csc(0)], Quest = Cos(0)] [

2R

L—_I"\

[4=085 conion=| co =3 | ] [
No5 = AzO,B:E, Condition = Cot(e):g , Quest=[Cos(0)—-Sin(0)] |, ,| ——

Nob6 = [A =7, B :3Tn, Condition = [Tan(e) :%}, Quest =[Cos(9) — Csc(e)]}, , {

N07—[A :T’ B =2 n, Condition =[Cot(0) =-4], Quest =[ Csc(0) + COS(O)]}, ,{

[Page = 0030]

No8 = [A—;B T, Condztzon—[Cos(e)— 1} Quest = [ Csc(8)+Cot(e)]} ’[ﬂ}
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TrigonometryExercise3 for No.14598

3 357
I=— 6=- . _
2 3 1=180° .6=(-1845)°
L,_2% L, B¢ 2=(-240)° .7=(-2010)°
6 4 3=330° .8 =2040°
T 59mn o
Nol=| 3=—— §=- . No2 = . 360
3 6 4=(-135) _ ==
T
T
A= .9=5 450 °
4 5=(-2160)° .10:(—}
15n L T J ]
5= 10=-15
2 ]

1
No3 = { Conditionl = |:COS(9) = 5}, Condition2 = [ Tan(0) < 0], Quest = Csc(0 )},

[z
:

e

No4 = [ Conditionl =[Sin(0) < 0], Condition2 = [ Tan(0) = 7], Quest = Cos(0) ], [

1]
R
o

No8 = [A_?)TB 2 m, Condztzon—[Cos(e)—l} Quest =[Tan(0) — Sm(@)]} ’[L()}

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢

7

No5 = {A =0,B= %’ Condition = {Cot(e) = E} Quest =[Cos(0) — Csc(e)] ,
T ) 2

Nob6 = [A = E’ B =, Condition = [ Sin(0) = g}, Quest =[Cot(0) — Sec(e)] ,

3 )
No7 = [A —nB :77:, Condition = [Tan(e) =ﬂ, Ouest = [Sin(0) - COS(G)]:|, ,

X [Page = 0031]
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TrigonometryExercise3 for No.14624

3n 11 7 |
J=— 6= )
2 3 1=90° 6=1935°
S, Mmoo 4z 2=(-225°  .7=960°
6 4 3=30° 8 =690°
21 53n o
Nol=|3=—"" 8= . No2 = . 90
3 6 4=240 9=|—
T
37
.4:—_ 9:6 990 o
4 5=(-810) .10:(——}
77 L T i
S=—— 10=55
i 2 ]

1
No3 = { Conditionl = [Cos(0) < 0], Condition2 = [Sm(@) = } Quest = Tan(O )},

1

I

No4 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Tan(0) =51, Quest = Sin(0) ]

2

No5=|A=0, B—— Condition = Tan(e):Z , Quest =[Cos(0) —Csc(0)] |, ,| —
1 | f
Nob6 = [A_E B =, Condition [Cot(e)zg}, Quest:[Cos(O)JrSm(O)]}, ,[—
[ 37[ 1 [ -2} } {/\/7}

No7 = Azn,B:T, Condition = Cos(e)zg , Quest =[Tan(0) —Csc(0)] |, ,

4582 Condion- | 5000~ | |12
No8 = A:T,B:ZR, Condition = Sm(@):; , Quest =[Sec(0)+ Tan(0)] |, ,| —

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢
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/]

L—_Il—l
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TrigonometryExercise3 for No.14641
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i T 89 1t |
I=— 6=- _ _
2 6 1=270° .6=(-2400)°
o tm BT 2=330° .7=750°
6 3 3=(45°  .8=1935°
S5n 53n o
Nol=|.3=-"—"— 8= , No2 = . 360
3 4 4=(-60) 9=|—
Y
7n
A= 9=6 450 o
4 5=(-2790)° .10:(—)
17n L o
5= 10=35
i 2 ]

No3 =| Conditionl =[Tan(0) < 0], Condition2 =| Sin(0) = S b Quest =Sec(0) |, ,

No4 = [ Conditionl = [Sin(0) < 0], Condition2 = [ Cot(0) = 2], Quest =Sec(0)], , [

- 2
Nos :[A = O’B:;’ Condition :[Tan(e) =

§:|’ Quest: [Sln(e) + SeC(e)]:|, a|:
3n 3
N06:[A =, B=T, Condition =[C0t(9) =5

7},Quest:[Cos(O)—Sin(O)]}, {
No7:[A =§, B =, Condition :[Csc(e) =ﬂ, Ouest = [ Sec(0) + Tan(e)]}, {
3

)

a
|
|
|

4582 contion- | 500~ |12
No8=| A=—"",B=2mn, Condition = Sm(@):g , Quest =[Sec(0)+ Tan(0)] |, ,

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢

*‘a'«\é*‘é i
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TrigonometryExercise3 for No.14681

i 3n 67 |
I=— 6= . _
2 6 1=90° .6=1590°
L 4 _A0r 2=135°  7=(-480)°
3 3 3=(30)° .8=2475°
T 49 1t o
Nol=| 3=— 8= , No2 = . 180
4 4 4=(-300)° 9=|—
T
11mn
.4: 9:1 900 °
6 5=(-1170)° .10:(—}
11mn L T J ]
S=- 10=65
i 2 ]

| I

5
No3 = [ Conditionl =[Cos(0) < 0], Condition2 = { Sin(0) = g}, Quest = Cot(@)},

No4 = [ Conditionl =[Cos(0) < 0], Condition2 =[Tan(0) = 5], Quest =Sin(0) ],

2

- 1 1
e
1

=[5
| I

N05:{A :0,B:§, Condition = [Csc(0) = 6], Quest = [Cos(O)—Cot(G)]}, ,[

7

Nob6 = [A =7,B= 32_71’ Condition = [Cot(e) = i}, Quest =[Sec(0) + Csc(e)]}, , { }
3n -4
N07:[A :7, B =2 n, Condition :[Tan(e) :?}, Quest =[Sec(0) + Csc(e)]}, ,[

No8 = [A :g, B =, Condition = [ Sin(0) = 51 }’ Quest =[Cos(0) — Tan(e)]}’ , [ﬂ}

|

X [Page = 0034] XXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXKKXXXKKKXKXXXKKKXXXXKKKXXKKKXKXXKKKKKXKKK XX KKKK XX KKKKXKKKK XK KKK KX KKKKXKKKK



),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XX XXX XXX XXX KKK XXX XXX XXX KKK XXX X XKXXKKXXKME/1-6800303-00035XX

TrigonometryExercise3 for No.14688

3 19 7
d="" 6= i ]
2 4 1=90°  .6=(-1920)°
p. Am L Ur 2=(-300)° .7=(-510)°
3 3 3=(-330)° .8=(-1125)°
Sn 9n o
Nol=| 3= 8=——|No2= . 90
6 6 4=(315°  9=—
T T
A4=—-— 9=17 720 ©
4 5=2520° .10:(—}
Sn L T J |
S=-"— 10=15
2 |

I
N‘é\
| I |

3
No3 = [Condmon] [Cos(@) = } Condition2 = [Sin(0) < 0], Quest = Cot(@) [

‘3

&S
L 1N

No4 = [ Conditionl = [ Cot(0) =-6], Condition2 = [ Cos(0) < 0], Quest = Csc(0)], [

N05:{A :0,B:§, Condition = [ Cot(0) =21, Quest = [Sec(9)+Csc(9)]}, ,[ >

|

:3—R,B:2 nt, Condition :[Tan(e) zé}, Quest =[Sin(0) — Cos(e)]}, ,[

N06:[
2

|

3n » 2 : W/j
No8 = A:n,B:T, Condition = Cot(e):g , Quest =[Cos(0) +Sin(0)] |, , —(

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢

A
T -5
N07:[A :;, B =, Condition =[Cos(9) =7}, Quest =[Csc(0) + Cot(e)]}, ,[
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TrigonometryExercise3 for No.14703

I 49 |
I=—  6=- _ _
2 4 1=180° .6 =495°
. S 2=(-30)°  .7=2550°
3 6 3=240°  .8=(-2040)°
Tr 31m o
Nol=| 3=— 8= ,No2 = . 90
4 3 4=(-45)° 9=
Y
11=
.4: 9:2 630 o
6 5=(-720)° .10:(—)
11 m L T J
S=———  10=55
i 2 |

1
No3 = { Conditionl = [Sin(0) < 0], Condition2 = {Cos(@) = g}, Quest = Tan(O )}, ,

1
I

No4 = [ Conditionl =[Sec(0) < 0], Condition2 =[Cot(0) = 6], Quest = Sin(0)],

b

No5 = {A =0,B= g, Condition :{Sec(e) = g}, Quest =[Sin(0) — Cot(e)]}, , [

3 -6
Nob6 = [A =7, B :Tn, Condition = [Csc(e) = ;}, Quest =[Sec(0) + Cot(e)]}, ,

No7 = [A =§, B =, Condition :[Sin(e) =ﬂ, Ouest = [ Sec(0) + Tan(e)]}, , {

N08:[A :%, B =2 n, Condition =[Cot(6) :é}, Quest =[Sin(0) — COS(@)]}, ,{

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢
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TrigonometryExercise3 for No.14714

131
== 6= _ _
4 1=90° .6 =2835°
. S 2=45°  .7=(-2490)°
4 6 3=(-60)° .8=(-1680)°
11 m 44 o
Nol=|.3=— 8= ,No2 = . 180
6 3 4=(-150)° .9=|—
Y
4r
A= 9=5 540 o
3 5=1800° .10:(——)
On L T
S=———  .10=45
i 2 |

No4 = [ Conditionl = [ Cot(0) =-3], Condition2 =[0 < Sec(0)], Quest = Sin(0)],

x 2 | o
No5 = {A =0,B= E’ Condition = {Cot(e) :5}, Quest =[Sin(0) + Sec(e)]}, , {—(}

3n ) ﬁ
Nob6 = [A =7, B :T’ Condition =[Sln(9) :;}, Quest =[Cot(0) — Sec(e)]}, , {—(}

No8 = [A = g, B = n, Condition I[SGC(G) =§}, Quest = [Sin(0) — Cot(@)]}, ; [L()}

X [Page = 0037] XXXXXXXXXXXXXXXXXXXXKXXXKXKXKXXXKKKXXXKXKXKXXXKKKXKXXXKKKXXKKKXKXKKKKKXKKK XX KKKK XX KKK KX KKKK XK KKK KX KKKKXKKKK




X

),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX XXX XXXXXXXX XXX XXX XXX XXX XXX XX XX XXXXXME/1-6800303-00038XX
TrigonometryExercise3 for No.14746

3 63 7 |
d=— 6=- _ _
2 4 1=180°  .6=(-1920)°
P A k. 2=30°  .7=2025°
6 6 3=120°  .8=(-390)°
S5n 41 o
Nol=| 3=— 8=- ,No2 = . 180
3 3 4=(225)° 9=|—
Y
3n
A=— 9=2 450 °
4 5=(-1440)° .10:(—)
131 L T ) |
S=— .10=-25

1
No3 = [Condztzonl =[Cot(0) < 0], Condition2 = [Cos(@) = } Quest = Csc(@) [

‘j

No4 = [ Conditionl =[Sec(0) < 0], Condition2 = [ Tan(0) = 1], Quest = Sin(0)], [

‘j

No5 =[A = O,Bzg, Condition =[Sec(0) =21, Quest =[Csc(0) + Tan(e)]}, ,{

=[5
| |

Nob6 = [A =§, B =mn, Condition =[Tan(0) =-2], Quest =[ Cos(0) — Csc(e)]}, , {
3n ) -4
N07:[A:n,B=T, Condition:[Sm(O)zg}, Quest = [Sec(O)—Tan(G)]}, ,{ }

1= o | 2]
No8 = A:T,B:ZR, Condition =[Sec(0) =6], Quest =[Csc(0) +Tan(0)] |, , —(

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢

(BSE
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):9.0:9:9:9:9:9:9.9:9:9.0:9.9.9:9:9.9:9:9.9.9.9.9.9:9.9.9:9.9.9:9.9.0:9.0.9.9:9.9.0:9.0.0:9.9.9:9:0.9.0:9.9.9:9:0.0:9.9.0:9.0.9.9:9.9.90:9:0.0:9.0.0:9.0.9.9.0.9.9:9.9.9:9.0.0:0:9.9.:9.0.9.0:9.9.9.9:0.0:9.0.0:0:0.9.9:9.0.0:0.0.0:0.0:¢
TrigonometryExercise3 for No.15000

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXX XXX XXX XXX XXX XXX XXX KKK XXX XXX KKK XXX X XKXXKKXXKME5/1-6800303-00039XX
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i ; T 16 |
S2 3 [ 1=270°  .6=(-2670)°
PYNCE I 2=(-210)°  .7=(-405)°
4 6 3=(315°  .8=(-1500)°
S5n 45 o
Nol=| 3=— 8= . No2 = . 270
6 4 4=(300° 9=|—
2n T
A=— 9=17 900 °
3 5=1080° .10= (— —J
27 ¢ L T J ]
5= 10=55

1
No3 = [Condztzonl =[Cot(0) < 0], Condition2 = [Cos(@) = } Quest = Csc(@) [

xb
| I |

No4 = [ Conditionl = [ Tan(0) = -4], Condition2 = [ Csc(0) < 0], Quest = Cos(0)], [

‘3

o
NoS5 {A 0, B=—, Condition =[Csc(0)=5], Quest =[ Cos(0) Cot(e)]} ,[—()}
3n «/7
No6 [AZT B=2n Condition:[Csc(e):-7],Quest:[Sec(6)+Tan(9)]}, ,[—(}
3n
No7=|A=mn,B= T, Condition =

[sm(e) :é}, Quest =[Cot(0) — Sec(e)]}, ,[

=3
| |

No8 [A——B TcCondztzon—[SeC(9)='7]’Q“eSt:[Tan(e)JrSin(e)]} ’{L()}

5
),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢



TrigonometryExercise3 for No.15012

),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢
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i 477 |
== .6 = _
3 1=270° .6 =1500°
p.3r L A= 2=60°  .7=(-1050)°
4 4 3=315° .8=(-2655)°
T 731 o
Nol=| 3=—.8§=- , No2 = . 270
6 6 4=(-150)° .9=|—
T
4r
A= 9="7 450 °
3 5=1800° .10= (— —J
S5n L T J ]
S=—  .10=25
T2 ]

2
No3 = [ Conditionl = [Cos(@) = g}, Condition2 = [Cot(0) < 0], Quest = Csc(@)}, ,
No4 = [ Conditionl =[Tan(0) = 7], Condition2 =[Cos(0) < 0], Quest =Sin(0)],

No5 = [A =0,B =§, Condition =[Sin(9) =%}, Quest =[Sec(0) — Tan(e)]}, , {

3 3
Nob6 = [A =m,B= 771’ Condition = [Cot(e) = g}, Quest =[Sin(0) — Sec(e)]}, ,

N07:[A =§, B =, Condition =[Csc(9) :2}, Quest =[Cos(0) — Tan(e)]}, ,{ ()

2

.  —
L

BE

i 2
No8:[A :7’322 n, Condition Z[COS(Q) :g}, Quest =[Cot(0) — Csc(@)]}, ,{
X [Page = 0040]

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢

s



),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXX XXX XXXXKX XXX XXX KKK XXX XXX XXX KKK XXX XKKXXKKXXKXME5/1-6800303-00041XX

TrigonometryExercise3 for No.15024

35w
== 6=-— - -
4 1=270° .6=1020°
L,_ 2%, B¢ 2=60° . 7=(-750)°
6 6 3=(-330)° .8=(-2475)°
37 14w
Nol=|3=-"— §=- , No2 = . 180
4 3 4=(-315)° 9=|—
T
4r
A=— 9="7 720 °
3 5=1440°  10= (—J
Tn L T J ]
S=———  .10=35
i 2 ]

I

4
No3 = { Conditionl = |:COS(9) = ;}, Condition2 = [Sin(0) < 0], Quest = Tan(0 )}, , {

No4 = [ Conditionl = [Tan(0) =-5], Condition2 =[Csc(0) < 0], Quest =Cos(0)], , [

Sl

No5 = [A =0,B =§, Condition =[Sin(9) =%}, Quest =[Tan(0) — COS(G)]}, , {

3
N06=[A :Tn, B =2 n, Condition :[Cot(e) =;}, Quest =[Cos(0) + Sin(e)]}, ,{

=

|

N07=|:A=TC,B=3TTC, Condition:[Sec(G)z?}, Quest:[Sin(9)+Cot(9)]}, ,[ }
T . 1 «/7
No8 = [A = ;’ B =m, Condition = [ Sin(0) = g}, Quest=[Tan(0) + Cos(0)] }, , {—(}

X [Page = 0041] XXXXXXXXXXXXXXXXXXXXKXXXKXKXKXXXXKKXXXKXKXKXXXKKKXKXXKKKKXXXKKKXKXKKKKKXKKK XX KKKKXXKEKKKXKKKK XK KKK KX KKKKXKKKK



),0:9:9.0:9:9.0,9:9.:9.9:9.:9.9:9.:9.9:9:9,0:9:9,0:9.:9.0:9:9.0,9:9.0.0:9.0.9:9.9,0:9.:9.0:9.:9.0:9:9.0:9:9.0,9:9.0.9:9.9.0:9.:0,0:9.:9,0:9:9.0:9.:9.0.0:9.0.9:9.0.9:9.:9.0:9.9,0:9.:9,0:9:9.0:9:9.0:0:9.0.0:9.9.9:9.:9.0:9:0,0:9:0,0:9:0.0:9:0.0:¢
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TrigonometryExercise3 for No.15032

Nol =|.

, No2 =

47 1t
I=m .6 =
6
27 39m
2=—"— 7=
3 4
Tr 16
3:— =
4 3
11m
4= 9=6
6
Or
S=——" .10=45
2 i

1=90°  .6=1485°
2=30°  .7=(-2010)°
3=45°  .8=(-2640)°

90\
4=60° 9:(—]

T

450 )
5=720° .10:(——)
L T _

5
No3 = [ Conditionl =[Sec(0) < 0], Condition2 = {Sln(e) = } Quest = Tan( 8)

No4 = [ Conditionl =[Cos(0) < 0], Condition2 =[Tan(0) =4], Quest = Csc(0)], [
No5 = [A =0,B =§, Condition =[Sin(9) =§}, Quest =[Sec(0) — Tan(e)]}, , {
Nob6 = [A zg, B =m, Condition = [Csc(0)=3], Quest =[ Tan(0) — Sec(e)]}, , {

3n ) -2
No7 = [A =m, B :7’ Condition = [ Sin(0) = ;}, Quest =[Tan(0) — Cos(e)]}, ,

No8 = [A = 32—71, B =2 n, Condition = [COS(O) :g}, Quest =[Csc(0) + Cot(0)] }, , {—(

),0:9:9.0:9:9.0,9:9.0:9:9.9.9:9.:0.0:9.:9.0:9:0,0:9:9.0:9:9.0,9:9.0.9:9.9.9:9.:9.9:9.:0,0:9.:9,0:9.9,0:9:9.0:9:9.0.0:9.0.9:9.0.9:9:0.0:9.:9,0:9.:9,0:9:9.0:9:9.0,9:9.9.9:9.:0,0:9.:9.0:9:9.0:9:9.0:9:9.0:9:0.0¢
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